(B8 442 A 18 2 A R 4
FtB_ TRERE K _1RAA 1R
L 10%]3 R s sy Fa s o Do MY

de e e

2. [10%]3F KA ey F A - »'+3y +2y=coshx+sinh2x.

-

1,0<t<2

3.8 —&HEOE f(£)=1 2,25t<4 . [5%)(a)F4 & f (1) B, [5%](b)3F K
6-1,4<t<6
0,elsewhere

g1 by & i #8844 (Laplace transform).
4. 0% KA P A TR f(1)=e¥sint+[ f(t-7)dr

5.[10%] k¥ x(r)=pul(t)—u(t-5) $h(t)=p(t)-u(t-3)2BHRES
(convolution integral), £ ¥ u(r) & BALF B RHE.

6. [10%] Consider the curve C which position vector is r(¢). If the second derivative
r'(f)=2j+2tk and r'(0)=2i, find the length of the curve C on the interval
—1<t<1.

7.[10%] Consider the function F(x,y,z)=xycosyz and the point P(1,2,0). Find the
directional derivative of F(x,y,z) at P in the direction of the origin. Also find a unit

vector normal to the surface xycosyz=2 atP.

8. [10%] Evaluate Sf¢2ydx +5xdy , where C is the circle (x— 1)* +(y+3)* =25.
C

9.[10%] Find (](;F-dr, where where F=)’i—-x’j+z’k and C is the trace of the
C

cylinder x*+y* =1 inthe plane x+y+z=1.
10.[10%] If F=4xi+ yj+4zk, evaluate the outward flux HS (F-n)dS, where S is the

sphere x*+y° +z° =4.




